Extreme Corrosion

Part #

GAHMRTFA8125-1420-785-NS

Fredsert Data

Installation Data

GAIMRTFA8125-1420-11T

GAIMRTFA1015-1620-145S

GAIMRTFA12175-2025-2055-NS

A
Minimum
g DThesd Oyl
M8 x 1.25 153 1785 18 3 N/A N/A M14x2.0 1035 785 12 12mmHex C10 110
M8 x 1.25 THRU 14.25 18.00 3.25 1850 3.75 M14x2.0 16.75 14.25 12.00 D-3 C11 130
M10x 1.5 13.18 17.75 20.00 3.25 20.50 3.75 M16x2.0 20.25 17.75 14.00 D-4 C20 225
M12x1.75 17.85 23.50 2450 3.25 25.00 3.75 M20x25 2275 20.25 17.50 D-5 32 350




